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Suppose X is a random variable with P(X > x) = 1/22, for all = > 1.
The variance of Y = 1/X? is

(A) 1/4. (B 1/12. (C) 1. (D) 1/2.
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If a fair coin is tossed 5 times, what is the probability of obtaining at

least 3 consecutive heads?

(A) 1/8. (B) 5/16. (CY1/4. (D) 3/16.
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If a fair coin is tossed 5 times, what is the probability of obtaining at

least 3 consecutive heads?

(A) 1/8. (B) 5/16. (CY1/4. (D) 3/16.
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Suppose X1, Xo,...,X, 1s a random sample from an exponential dis-

tribution with mean A. If il and iz are, respectively, the maximum
likelihood estimators of the mean and the median of the underlying

distribution, then
48
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3 3 A=)
(A) A1 < Aq. l MLE
A :
(B) A; = A, A, = ¢hmate of median
~ - - - h n . .
(C) A1 < A9 and Ay > Ay are both possible. q’ the €xponenhal dishn .

J(Dj il }ig.
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J(D'j A > Ag.
Compute the median of Exp dictn with Mean= A-
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A= X 7) = /2\|>3L ( m2< 1)
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} L e h (2 mact)

Suppose X, and X; are independent and identically distributed
exponential random wvariables with mean 2. The expectation of

max{X;, Xy} is

(A) 4 (B) 3.5 /@{ 3 (D) 2.5

<) Lid Fxp2) cdf of X, .
Befine : Y:max{xw'xz_l’ > Fund E(Y)
L opas- 9(y) = E(r)- j‘/*ﬂ}/)d‘%'
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Let X be a random wvariable with P(X =2) = P(X = -2) =1/6 and
P(X =1)=P(X = —1) =1/3. Define Y = 6X2 + 3. Then

(A) Var(X —=Y) < Var(X). ‘o) ~2, with prob Y,
r) = .
(B) Var(X —Y) < Var(X +Y). —1, with preb Yy
(C) Var(X +Y) < Var(X). 1y with prob
2, with Pf“olo 4/
(D) Var(X —Y) = Var(X +Y). 6.
X +Y : f(y) B 27, with pnok - ’/6{1
X=_ 2 1, weth prob X2
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0
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